log (L/AL)=log L /|L2-L1])

échelonnal
/BC/lELAB
25s

YR ERLE LN

.
’

’.' 0,1s & 25s

. LU
-°0,1s [cd/m]
bl
—2-1 0 1 2 3 4 5 x=logL

3-003130-LO0  3-003130-F0 MF091-70, B4_30

*




log (L/AL)=log L /|L2-L1])

échelonnal
/BC/lELAB
25s

—S R EERYEL

.
’

’.' 0,1s & 25s

. LU
-°0,1s [cd/m]
bl
—2-1 0 1 2 3 4 5 x=logL

3-013130-LO0  3-013130-F0 MF091-71, B4_30

*




log (L/AL)=log L /|L2-L1])

échelonnal
/SaELAB
25s

TTRARRE

k4
’

’.' 0,1s & 25s

3 LU
-°0,1s [cd/m]
bl
—2-1 0 1 2 3 4 5 x=logL

3-103130-LO0  3-103130-F0 MF091-72, B4_30

*




log (L/AL)=log L /|L2-L1])

échelonnal
/SaELAB
25s

TTRARRE

k4
’

’.' 0,1s & 25s

3 LU
-°0,1s [cd/m]
bl
—2-1 0 1 2 3 4 5 x=logL

3-113130-LO0  3-113130-F0 MF091-73, B4_30

*




